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HMEEE KB + JKE&C
T8 118 + 22 14.0 m2 14.0
aJLT—RKEBT
BEFEELY 69.11 m 69.1
(SLE)
m 79.6
25 EiRimaiET
BEFEELY 1.00 P 1.0
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(m) Wr m T = W T M= W T M= W T =
BNO.0 3.1 2.1 0.0 22T
BNO.0+1.7 1.700 3.1 3.10 5.3 2.1 2.10 3.6 0.0 0.00 0.0 |BNO.0fE F 25T
BNO.0+1.7 0.000 0.4 1.75 0.0 0.0 1.05 0.0 0.0 0.00 0.0 |BNO.0O+10f5
BNO.0+10.0 8.300 0.4 0.40 3.3 0.0 0.00 0.0 0.0 0.00 0.0
BNO.0+12.5 2.500 0.4 0.40 1.0 0.0 0.00 0.0 0.0 0.00 0.0 |BNO.0+10f5:
BNO.0+12.5 0.000 8.5 4.0 0.0 BIP. 1% IBBET
BNO.0+15.2 2.700 8.5 8.50 23.0 4.0 4.00 10.8 0.0 0.00 0.0 |BIP.1{3 f IBBET
BNO.0+15.2 0.000 0.6 0.0 0.0 BNO.15 8
BNO.1 4.800 0.6 0.60 2.9 0.0 0.00 0.0 0.0 0.00 0.0
BNO.1+3.2 3.200 0.4 0.50 1.6 0.0 0.00 0.0 0.0 0.00 0.0 |BIP.2{5 F
BNO.1+3.2 0.000 9.5 4.1 0.0 BIP.3{&H wI
BNO.1+5.4 2.200 9.5 9.50 20.9 4.1 4.10 9.0 0.0 0.00 0.0 |BIP.34% F BT
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BNO.2 2.300 2.3 2.30 5.3 14 1.40 3.2 0.0 0.00 0.0 |BIP.4f3 F 3ISHT
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BNO.2+5.2 9.5 4.1 0.0 BIP.3{# CEEET
BNO.2+8.0 2.800 9.5 9.50 26.6 4.1 4.10 115 0.0 0.00 0.0 |BIP.3f3 F CEEET
BNO.2+8.0 0.000 0.2 0.0 0.2 BNO.2+10{% F
BNO.2+10.0 2.000 0.2 0.20 0.4 0.0 0.00 0.0 0.2 0.20 0.4
BNO.2+15.8 5.800 0.2 0.20 1.2 0.0 0.00 0.0 0.2 0.20 1.2 [BNO.2+10f5
BNO.2+15.8 0.000 5.2 0.6 0.0 BIP.5{% F 22/ T
BIP.5 1.400 5.2 5.20 7.3 0.6 0.60 0.8 0.0 0.00 0.0 2E/IET
/N & 12.000 355 12.3 16
g i 57.200 129.4 50.0 2.6
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CNO.0 2.5 14 0.0 ST
CNO.0+1.4 1.400 2.5 2.50 35 14 1.40 2.0 0.0 0.00 0.0 |CNO.OfE R ISHT
CNO.0+1.4 0.000 0.2 0.0 0.2 BNO.2+1018 F (CHRI#8IK ERMF BT AL\ F=8h)
CNO.0+7.3 5.900 0.2 0.20 1.2 0.0 0.00 0.0 0.2 0.20 1.2 |BNO.2+10f FI(CRIRIABRITEA L 1=85)
CNO.0+7.3 0.000 2.5 1.0 0.4 CIP.1{E F 4BWT
CNO.0+9.6 2.300 2.5 2.50 5.8 1.0 1.00 2.3 0.4 0.40 09 |CIP.1fE 4EMT
CNO.0+9.6 0.000 0.2 0.0 0.2 BNO.2+1018 F (CHRI8IK ERMF B AL\ F=80)
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BNO.0+12.5 8.5 4.0 0.0 BIP.1{3 F
BNO.0+15.2 2.700 8.5 8.50 23.0 4.0 4.00 10.8 0.0 0.00 0.0 |BIP.1{# IERET
BNO.1+3.2 9.5 4.1 0.0 BIP.3{3 F
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RC-40 0.16xX10.0 = 1.600 m3 1.60
il EFREKY V=0.11m3/m
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e
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N=74Y
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((1.059+0.839)/2 X 1.02+(0.926+0.706)/2 x 1.02)/2 X 0.65 = 0.585
B ZE R AR
-((0.876+0.721)/2 % 0.72+(0.774+0.619)/2 X 0.72)/2 X 0.50 = -0.269
LT — KR ER R
-((0.13+0.20)/2 x (0.15+0.235)/2+(0.14+0.22)/2 X 0.15) = -0.059
B = 1385 m3 1.39
L B
— A (1.30+1.020 x 1.30) X 3.10+(0.15+0.41)/2 X 1.30 X 2 = 8869
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((1.059+0.926)/2+(0.839+0.706)/2+1.02) X 0.65 = 1.810
BiER N E
((0.876+0.774)/2+(0.721+0.619)/2+0.72) x 0.50 = 1.108
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RC-40 t=200 3.30 X 0.61+(0.704+0.924)/2 X 1.22 = 3.006 m2 3.01
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D-500 X 250 (0.172+0.235)/2+0.15 = 0.354 m 0.35
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1.0 = 1.00 H 1.0
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1.0 = 1.00 H 1.0
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LT — KR ER R
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= 0688 m3 0.69
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migEE2.0 2/ 76~125m | BIEETEE LY 1.00 = 1.0
ES3
BEFEELY 120.00 m 120.0
SN
HEHEELY 164.00 m 164.0
BITHR
HEHEELY 260.00 m 260.0
=TI LIL— it B
#BE =% 1.0
X% E(h=10m)
8~12m HEHEELY 1.00 H 1.0
P4 £ 3 4 (h=10m)
L EA(50 X 50 X 6) | ¢ 10mZAE1FE L) 0.57 t 0.57
=65t 0.57 t 0.57
A FINE
HEHEELY 1.00 H 1.0
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HEFHR REEEtER &Y
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X E(h=9m) RERETEIR &Y
8~12m 1.00 1.00 = 1.0
P8 A 4 (h=9m) RERETEIR &Y
S50 1L 8(50 x 50 % 6) |63 X 9/1000 0.567 t 0.57

THREESE057 %1 0.570 t 0.57
DAFINE

1.00 1.00 = 1.0




BB

SHRItX H 2 & i = NO.
%W R H g = B M E
=7 WL —viEifl
gk EE T sET  EET wI #i
=av9Y)—=k 3.10 417 + 058 + 198 = 9.83 m3 10
gk EE T sET EET wI ¥
BE 3.86 900 + 116 + 549 = 1951 m2
m2 t
1951 x 0.20 = 3.90 m3 4
TEBIT TR 50cm X 120cm
ER 95.0 050 x 1.20 = 57.00 m3 57
i m ke/m (E1)
SEANT 95.00 11.20 = 1064.00 kg 1,064
m kg/m
== 79.60 14.10 = 1122.36 kg 1,122
kg 2,186




